
 

 

ΛΥΣΗ: 

α)  u⃗ = 3α⃗⃗ − 5β⃗ = 3(1, −3) − 5(−2,−1) = (3,−9) − (−10,−5) = (13,−4)  

και  

v⃗ = 5α⃗⃗ − 9β⃗ = 5(1,−3) − 9(−2,−1) = (5,−15) − (−18,−9) = (23,−6) . 

β)   w⃗⃗⃗ = 2u⃗ − v⃗ = 2(3 α⃗⃗ −  5β⃗ ) − (5α⃗⃗ − 9β⃗ ) = 6α⃗⃗ − 10β⃗ − 5α⃗⃗ + 9β⃗ = α⃗⃗ − β⃗  . 

γ)  ΚΛ⃗⃗⃗⃗  ⃗ = w⃗⃗⃗ − β⃗ = α⃗⃗ − β⃗ − β⃗ = α⃗⃗ − 2β⃗    και 

 ΛΜ⃗⃗⃗⃗⃗⃗ = u⃗ − w⃗⃗⃗ = 3α⃗⃗ − 5β⃗ − α⃗⃗ + β⃗ = 2α⃗⃗ − 4β⃗ = 2(α⃗⃗ − 2β⃗ ) = 2 ∙ ΚΛ⃗⃗⃗⃗  ⃗        

Άρα τα διανφςματα  ΚΛ⃗⃗⃗⃗  ⃗   και   ΛΜ⃗⃗⃗⃗⃗⃗    είναι παράλληλα, οπότε τα ςημεία Κ, Λ, Μ είναι 

ςυνευθειακά.  

 


